The following notes rely on James Stimson’s notes from his Domestic Political

Economy course

I. Purpose
   A. We will be examining how politics affects the economy and how, in 
        turn, the economy affects economic inequality.  

   B. As such, we need to touch on how the economy works, but do not  

        need all the technical expertise that economists have developed

II. Economics Before Keynes

   A. Subsistence Economy: everyone produces exactly what they consume

        1. No trading

        2. No specialization of labor

        3. Subsistence economy has probably never existed.

            a. Even the most primitive societies had trading.

   B. Why Trading?

        1. Because trading offers the advantage of specialization:

            some areas/peoples have advantages in producing

            certain goods and services.

        2. Theoretically, everyone should gain from trading.        

   C. Standard Money

        1. A standard currency facilitates trading.

        2. Typically, precious metals, usually gold, are used.

            a. Advantages: compact, dear (can’t substitute something cheap

                    and expand supply -  fixed supply leads to stable value)

        3. The Politics of Gold 

            a. The appeal of the gold standard is that it is inflexible.

        b. Who benefits from inflexible currency?

                 1. “The Haves”: inflexible currency means there is no threat

                                             to their accumulated wealth.

                       a. An inflexible currency permits “the haves” to earn income

                           from their wealth by lending it (e.g., as depositors) knowing

                           that it will be paid back at the same value.

                2. “The Have-nots”: they are borrowers, not lenders, and it is very

                                                   very much in their interest to repay in a 

                                                   debased (i.e., devalued) currency 

        c. Flexible currency lead to the possibility of inflation – reductions

                          in the “real” value of money.

            1. Since inflation devalues wealth, it is much more threatening

                to the wealthy than to the poor.

        d. Inflexible currency restricts economic growth by making 

            borrowing more costly.

            1. Again, the “have-nots” differ from the “haves” – they are the 

                last hired, first-fired and are the most dramatically affected 

                by the business cycle

        e. Now ask “fundamental” political questions:

            1. Who was William Jennings Bryan?  What party was he in?   

                What was Bryan’s platform on currency?

            2. How do the Democrats and Republicans differ today on money

                supply questions? 

            3. How should the Democrats differ on the priorities they would

                attach to inflation and unemployment? 

III. History

     A. Gold oriented the nation’s politics mainly along regional lines:

          pitting the banking and industrial interests of the northeast

          against the farmers (who are debtors) and ranchers of the South and 

          what is today the Midwest.

           1. Thus, farmers wanted to be able to repay their loans in less

               valuable money while bankers and the owners of capital (i.e.,

               wealth) wanted stability.

           2. This set up the political system from 1896-1932: Republicans

                concentrated in the Northeast and the Democrats elsewhere.

     B. In terms of economic stability and growth there isn’t much of

          a problem before the industrial revolution.

          1. Prior to the industrial revolution we basically had a stable,

              stagnant economy with no technological innovation that

              grew very gradually through an increase in the size of the

              population.

          2. The gold supply was gradually growing too, as new sources

              were found and mined.

     C. The Industrial Revolution spurred economic growth on a scale

          never before experienced.

          1. Equilibrium between aggregate demand (what buyers are 

              willing to purchase), aggregate supply (what producers are

              willing to produce) and price.          

          2. What happens when both aggregate demand and supply rise 

              sharply but the supply of money is not large enough to pay

              for that new supply?

              a. Serious deflation (the price level drops)

              b. Instability: caused by an economy under pressure to grow,

                                      which keeps encountering the limits of a relatively

                                      fixed supply of money—like a dog on a leash, it

                                      jumps forward, encounters the limit and then jumps

                                      back in violent cycles.

     D. Violent Business Cycles (i.e., booms and busts) were where we stood 
          in the 1930s.

          1. We had no understanding of the macroeconomy and no idea of

              what policies government might pursue to deal with the business

              cycle.

              a. FDR acted out of psychology – people needed to see the 

                  government take action.  Not because of economic theory. 

IV. Economic Theory at the Time of the Great Depression

     A. Adam Smith

          1. The “unseen hand,” the free market, would be the method 

              by which individual self-interest could be the driving force of 
              societal well-being.

              a. Definition of a Free Market: voluntary exchanges between

                       mutually consenting individuals

              b. The implication for government was clear: stay out of the

                  economy and the free market work its magic.

              c. Smith’s views on supply, demand and price in free markets

                  are still the basic views of economics.

              d. When Herbert Hoover said the best thing for government

                  to do about the Great Depression was to do nothing, and let

                  the economy heal itself through natural forces, he was

                  following Adam Smith.

     B. Thomas Malthus
          1. Malthus, perhaps the central figure in the early reputation of

              economics as “the dismal science,” saw population as the 

              central fact of economic regulation.

              a. Malthus’ “Grim Law of Population and Food”: the population

                         increases faster than the food supply leading to starvation.

                  1. Thus, starvation becomes the regulating force.

     C. Both Smith and Malthus agreed on the central idea that natural

          forces were in control of the economy.

          1. Thus, if human economies were “out of control,” that was

              God’s will; there was nothing to be done about it.

              a. No role for economic policy.

              b. At the time of the Great Depression, most economists did

                  not talk about government at all.

                  1. For many economists, government was not part of economics.

V. John Maynard Keynes and the General Theory

    A. Economic Policy Levers

         1. Fiscal Policy: How much to spend? How much to tax?  How much 

                                     debt? (e.g., pay it off?)

         2. Monetary Policy: the size of the money supply

             a. Government influences how much money is in the economy.

             b. Money is more encompassing than “currency”: it includes

                       most forms of credit as well as currency

                 1. Under the gold standard, government was not conscious of

                     regulating the money supply, but it did expand and contract

                     the willingness of people to loan money to one another.

             c. Two kinds of monetary regulation: (neither understood at the 

                      time) 

                  1. Expand the supply of money through discoveries of gold.

                  2. Actions that caused lending to rise or fall.

             d. Government had a role in causing lending to rise or fall through

                  its responsibility to regulate banking for sound business 

                  practices.             

                  1. For example, government has a role in setting bank reserve
                      requirements: the proportion of all deposits that must be

                      held (and not loaned).

    B. The Great Depression in Retrospect:

         1. Starts with stock market panic over margin calls.

         2. Massive market losses led to bank failures, as speculative

             loans were not repaid.  Public panic begins a bank panic.

         3. Banks, under assault, called in loans and stopped making

             new loans.

             a. This causes a radical decline in the money supply.

            b. Production and consumption declined because there wasn’t

                enough money in the economy to pay for the existing levels

                of goods and services.

            c. The decline in production causes massive layoffs. 

         4. We didn’t understand why this was happening, so government did

             nothing to counteract it.

              a. Government probably made it worse by engaging in the same

                  “belf-tightening” that was going on in the private economy.

    C. Enter John Maynard Keynes

         1. The Multiplier: how much each additional dollar in spending

                                       increases consumption.

              a. For example, if the government gave you $1 to spend and

                  you spent 92% of it (i.e., 92 cents), and each person who 

                  received money that you spent also spent 92% of what they

                  received, the total increase in consumption due to the original

                  $1 that you were given would be $12.50.  

                  1. In this example, the multiplier is 12.5 and the marginal 
                      propensity to consume is 92%. The marginal propensity

                      to save is 8%.  

                       a. The formula is: the amount you begin with/(the amount

                                                      you begin with minus the marginal

                                                      propensity to consume).

                  2. Taxes would lower the marginal propensity to consume,

                      and with it, the multiplier.

         2. The practical implication of the multiplier: if economic growth starts 

                  to slow, the government should stimulate demand by increasing

                  expenditures and cutting taxes.

                  a. Value of Deficit Spending: while every $1 of new spending

                      produces a multiplier effect on aggregate demand, every $1

                      of new taxing has a negative effect of the same amount.

                      1. Therefore: to stimulate the economy the budget must be

                                             unbalanced.

                      2. According to this view, paying off a debt would depress

                          the economy. 

                          a. Thus, the “key” is the imbalance of taxing and spending.

                          b. You can get the same effect by either cutting taxes or

                              increasing spending by the same amounts.

         3. To maximize the impact of deficit spending, give the money to the

             people with the highest marginal propensity to consume.

             a. Typically, this would mean lower income voters who are

                 disproportionately Democratic.

         4. Thus, government has an important role to play in “Keynesian

             economics: stimulate demand. (called “demand side” fiscal policy)

             a. In terms of “academics,” the role for government means that

                 conservatives won’t like keynesian economics and will lead

                 an intellectual attack against.

                 1. That “attack,” and the response to it, has been much of 

                     the major emphasis of macroeconomic theory since the Great 

                     Depression.

         5. Now governments/presidents are seen as having a responsibility 

             for the economy            

             a. While most everyone would agree that economic growth is

                 desirable, we can not necessarily have as much of it as we

                 would prefer.

             b. Tradeoffs between employment/growth and inflation.

                 1. A lower unemployment rate usually brings greater growth.

         6. The Phillips curve, which is a complement to or extension of

             Keynesianism, is the expression of the tradeoff between

             employment and growth.

             a. While conservatives might argue that the Phillips curve

                 never really existed, it was a pretty accurate description of
                 the U.S. economy in the 1960s.

             b. Keech: Phillips curve on page 29, 35 and 75 (partisan version).  

             c. Concepts useful to understanding the Phillips curve

                 1. Full Employment: the level of unemployment where everyone

                     who wants to work can find a job.  Today, probably around 4%

                     a. If we lower the unemployment rate below the full 

                         employment level the following is suppose to occur:

                         businesses will sell more products, employers will pay

                         workers overtime, they will hire new workers whose lower

                         skill level makes them relatively expensive labor.  

                     b. All of the above actions will increase unit costs which will

                         then be passed on as higher prices which will, in turn, cause

                         employees to demand higher pay in order to meet the higher

                         prices and inflation results.

                         1. If producers do not respond to increased demand by 

                             increasing supply, then prices will still go up.

                     c. Thus,  theoretically, “excess” employment leads to inflation.

             d. Logic of the Phillips curve: if the unemployment rate goes below

                 the full employment level, inflation results.

                 1. The Phillips curve tell us what the tradeoffs are: that is, what

                     level of unemployment can be attained with what 

                     corresponding level of inflation. 

             e. The Blinder Rule: a percentage point in unemployment above

                  natural rate of unemployment (the rate of unemployment

                  necessary to keep the inflation rate the same) endured for

                  a year, lower the core inflation rate (the actual inflation rate

                  minus food, shelter and energy), one-half of one percent.        

                 1. The Blinder Rule is sort of a “short-term” Phillips curve:

                     it is thought to operate over approximately a two-year

                     period         

                     a. The Blinder Rule has been very accurate in the U.S. since

                         the end of World War II.

VI. Economists and Political Scientists

     A. Outlook: economists tend to regard economic policy as if it were

          neutral with respects to its effects on individuals.

          1. They tend to argue that at any given time there is one best policy

              that ought to be followed.

              a. However, the typically don’t agree among themselves what 

                  policy is best.

                  1. Liberal economists argue for more stimulation and growth.

                      a. More concerned with “inequality” and what happens to

                          the plight of workers whose wages do not increase as

                          quickly if demand fall and the huge loss to unemployed

                          workers.

                  2. Conservative economists argue for restrained growth and

                      sound money.

     B. Political science has a different orientation about policy choices.

          1. We tend not to believe in the possibility of a best policy in

              a neutral whole-economy, but rather see it as a struggle for

              whose interests are going to be served-the kind of struggle

              about dividing the pie that is appropriate for a political
              resolution.

VII. Who Wins and Loses from Various Economic Outcomes?          

       A. Unemployment: each additional percentage point in unemployment

            yields a decline of about a tenth of a percentage point in the share

            of income going to the poorest and next poorest 20% of American

            families. (Hibbs, The American Political Economy, p. 80)

            1. As unemployment compensation replaces only between 22% to

                37% of lost income, unemployment has very important

                consequences, especially for the poor. (Hibbs, p. 58)

            2. In terms of the U.S. economy, a percentage point increase in

                unemployment lasting a year is accompanied by a decline in

                “real” (adjusting for inflation) output of about 2%.

            3. Nonmonetary costs: a sustained one percentage point increase

                in unemployment ultimately produces approximately 30,000

                additional fatalities (through increased crime, loss of health

                benefits, alcoholism, suicide, etc.) The U.S. lost just under

                60,000 people in the Vietnam War. (Hibbs, p. 50)

       B. Inflation: Due to appreciating home values and indexed government
            benefits, the poorest 80% of American families are relatively

            unaffected by inflation. However, the wealthiest 20% of families

            are adversely affected by inflation.  This is primarily because the

            sources of income for the wealthier group turns less on wages

            and salaries and more on dollar denominated interest-bearing

            securities (adapted from Hibbs, The American Political Economy,

            pp. 88-89)

            1. Inflation Adjusts Real Income: when inflation is high, people
                make relatively large gains and losses in a short period of time.

                a. Home Values: millions of people made a small fortune during
                    the high inflation of the mid-1970s when the houses they had

                    bought before that time doubled, or more, in value while they

                    paid for them – the mortgage- was relatively small.

                    1. Uncertainty is the key: If creditors knew what inflation would
                        be, then they would have built that expectation into the 

                        interest rate they demanded.  Creditors would have come

                        out okay, but the home owners would not have made the

                        huge gains that they did. 

                b. Treasury Bills: If you invest one million dollars in treasury

                     bills at 6% for 30 years maturity, you make $60,000 per

                     year income.  Your real income (after subtracting inflation)

                     is about $40,000 (assuming a 2% inflation rate).  Now, if

                     the inflation rate goes 6%, the result is devastating: your

                     wealth has no ability to produce income at all.

           2. For The Poorest 80% of the Population – Who are Not Likely

               to Be Investing in Treasury Bills – Let Us Examine Two Scenarios 
               Which Indicate Why Inflation is Not as Serious a Problem as is 
               Generally Thought 

                                                     Scenario #1

           Year 1                                          Year 2

           Chicken             Gas                   Chicken               Gas  
           $1.00 lb.             $1.00 gall.         $.75 lb.                 $1.25 gall.

              a. In Scenario #1 there is a 0% inflation rate because chicken

                  decreased in price as much as gas increased in price.       

                  1. While there is no inflation in Scenario #1, there is, 

                      nevertheless, a 40% reduction in living standards for

                      those who are represented as “chickens” (because

                      chicken is only 60% as high as gas in year 2: $.75 is

                      60% of $1.25).  

                                                 Scenario #2

           Year 1                                           Year 2           

            Chicken            Gas                    Chicken               Gas

            $1.00 lb.            $ 1.00 gall.         $1.05 lb.               $1.75 gall.

              b. In Scenario #2 there is 40% inflation because what

                  cost $2 in year 1 (a pound of chicken and a gallon of gas)

                  cost $2.80 in year 2.

                  1. Of greater important, is that the standard of living of

                      those represented as “chickens” is unchanged from

                      Scenario #1, there is still a 40% reduction in living

                      standards (because $1.05 is 60% of $1.75).  

                  2. The “key” is relative, not absolute, prices or the “terms

                      of trade” between chicken and gas.  In year 2 of both    

                      scenarios, chicken is 60% of gas. 

           3. When the U.S. had low, or zero, inflation rates over a long

               period (e.g., 1880-1910), we were using Scenario #1.

               a. Since the Great Depression, prices have been relatively rigid

                   downward.  

                   1. Thus, you don’t see prices for products falling as would be

                       required in Scenario #1.

                       a. Prices tend to rigid downward because: (1) businesses

                           assume that demand will not stay weak -  government will 

                           reduce taxes and/or increase spending; (2) contracts with 

                           employees make it difficult to reduce prices.

                   2. Thus, since the Great Depression, the U.S. has handled

                       relative price changes through differential rates of price

                       increases – as in Scenario #2.

VIII. Political Choices about Economic Outcomes

       A. As the Previous Discussion Indicates, Everyone is Not Affected the

            Same by Unemployment and Inflation

            1. The poor are most hurt by unemployment. 

                 a. The poor want: (1) access to the job market; (2) the pressure

                     on employers to pay higher wages which comes from having

                     a lower unemployment rate.

            2. Higher income individuals are less likely than the poor to face

                unemployment, but more likely to have wealth in assets that

                fit the treasury bill example above and, as a result, more fear

                inflation.        

       B. From What We Have Already Discussed You May Not Be Able to

            Minimize Both Unemployment and Inflation Simultaneously.

            1. Both the Phillips curve and the Blinder Rule show an

                inverse relationship between unemployment and inflation. 

       C. Choosing Between Conflicting Goals Brings in Politics: The

            Authoritative Allocation of Values

            1. Thus, governments will have to choose between policies

                which produce outcomes that either help the poor (low

                or full employment) or help the wealth (low inflation).

       D. Ideology, Party and Fiscal Policy

            1. Democratic Administration: should produce lower unemployment

                and higher inflation.

               a. This would appease the Democrat’s lower income base and

                    “pin the losses” on a higher income group that is more

                     Republican.

               b. The Democrats could produce the lower unemployment/

                    higher inflation configuration by increasing spending while

                    holding taxes constant which would produce a deficit.  The

                    deficit, working through the multiplier, would increase growth,

                    employment and ultimately, inflation.

            2. Republican Administration: would be expected to reduce inflation

                by either increasing taxes (unlikely) or reducing spending (much

                more likely since spending disproportionately helps the lower 

                income and more Democratic constituencies).

                a. If a Republican Administration follows a Democratic 

                    Administration the anti-inflationary pressure could be quite 

                    large assuming the Democrats had greatly stimulated the 

                    economy.

       E. The Evidence: Do Democratic and Republican Administrations

            Behave as We Should Expect?

            1. With some qualifications, the basic answer is “yes.”

            2. Two questions: 

                 a. Is there a systematic difference between the two parties in 

                     policy?

                     1. Yes: Political scientist Douglas A. Hibbs has demonstrated

                         relatively convincingly that Democratic Administrations

                         do tend to stimulate more than Republican Administrations.

                         a. Due to both fiscal and monetary policy.

                             (Hibbs, The American Political Economy, )
                 b. Is there a systematic difference in outcomes?

                     1. Probably Yes: while there is some controversy here, over
                         an eight year period since 1945, after removing the effects of 

                         exogeneous shocks to the system (e.g., the oil price 

                         increases by OPEC), Democratic Administrations have 

                         typically produce unemployment rates approximately 2%

                         lower and core inflation rates (subtracting out food, shelter

                         and energy) about 4% higher than Republican 

                         Administrations. (Hibbs, The American Political Economy,

                         pp. 248-254)

                     2. If there is “one” dominant economic problem, both parties

                         will try to improve it, but what they can do is affected by

                         the wealth of their supporting coalition.

                     3. For example, when Ronald Reagan became president in

                         1981, he inherited about as bad an unemployment/inflation

                         configuration as we have had since the Great Depression:

                         unemployment – 7.4%; core inflation – 9.6%. 

                         a. Given a high income constituency, the Reagan Adm.

                             made a determined effort to reduce the core inflation rate.

                             Over the 1981-84 period, the core inflation rate fell from

                             9.6% to 4.6%.  According to the Blinder Rule, 

                             unemployment would have to be held 10 percentage 

                             points above the natural rate of unemployment (that rate 

                             that keeps inflation the same).  Since natural rate of 

                             unemployment was 6% at that time, only unemployment 

                             above 6% would lower the core inflation rate.  Over the 

                             1981-84 period the U.S. did have to have a total of 10 

                             annual percentage points of “extra” unemployment (i.e., 

                             over the 6% natural rate) in order to achieve the 5% 

                             reduction in the core inflation rate.  For example, the 

                             unemployment rate hit 10.7% in 1983 (4.7% above the 

                             natural rate) This is exactly what the Blinder Rule 

                             predicted we would need. 

                          b. A “second” Carter Administration would also have 

                              attempted to lower inflation, but could not do it as quickly 

                              as Reagan could because the could not afford the huge 

                              increase in unemployment that would be necessary.

                              1. Thus, the parties have different “aversion” rates to

                                  different problems.  

IX. Fiscal Policy and Investment

     A. Investment is any portion of national income that is not consumed.

          1. Any funds that come into the system in whatever form (bank

              deposits, annuity contracts, stock purchases, corporate bonds,

              retirement funds) all become part of a pool of money that is 

              available for the purpose of purchasing new plant and equipment

              for business purposes.

          2. Thus, money spent for the benefits it will provide in the future is

               investment (plant and equipment or human capital).  

          3. Money spent for current gratification is “spending.”

     B. Why Should We Care about Investment?

          1. Productivity: how much input it takes to produce a given level

                                     of output

              a. The Phillips curve assumes that production per person-hour

                  is fixed, as it pretty much is in the short run.

              b. However, if productivity increases, you can have expanding

                  national income without inflation.

          2. Thus, productivity is the way out of the Phillips curve and the

              Blinder Rule. 

              a. So, how do you increase productivity?

     C. Supply Side I: Serious Economics 

          1.Consumption: is (a) what producers produce and; (b) consumers 

                                       buy.

              a. The focus of Keynesian economics is on consumer buying (i.e.,

                  stimulating consumer demand-hence, demand-side)

          2. Supply Side: you can also increase the supply of goods and 

                                     services with a resulting growth in national income.

              a. If demand is fixed and supply grows, then prices fall and

                  consumption increases as consumers discover they can get

                  more for their money.

              b. Supply Side Economics: Theories about increasing the supply

                                                              of goods and services

                   1. Anything that increases investment will benefit the economy,

                       producing non-inflationary growth and prosperity.

                   2. How do you stimulate investment (savings)?

                       a. The same logic that works on the demand side also works

                           on the supply side: government deficits spur both 

                           consumption and investment while surpluses impede both.

                   3. But, to whom do you target benefits if you want to produce

                       savings and investment?

                       a. Those with a low marginal propensity to consume: the rich.

                   4. How do you target the rich for government benefits?

                       a. Tax reductions are the most effective means to put money

                           in the hands of the rich.

                       b. Politically, tax cuts are probably the only feasible way to

                           put government benefits in the hands of the rich since

                           the electorate would not tolerate a spending program in

                           which the bulk of the benefits went to the rich.

                           1. The additional political benefit of a tax cut approach to

                               aiding the rich is that you can also cut taxes by what
                               seems to be an identical, and hence seemingly “fair,”

                               amount and produce huge cuts for the rich and small

                               ones for the poor, fooling the poor into thinking they

                               got a good deal.   

                           2. There is no accounting of tax benefits.

                               a. Thus, at the end of the year you never have to say

                                   how much we spent on stimulating investment.

                               b. Estimating how much tax benefits cost is tricky--

                                   because people change their behaviors to optimize

                                   their after-tax incomes—and so you never have solid

                                   numbers that tell you how much it cost.

                               c. Additionally, there are hidden benefits that are not

                                   part of the budget.  We argue about whether we spend

                                   too much on housing subsidies for the poor, an 

                                   obvious welfare benefit. But that spending is trivial

                                   compared to the dollars lost to the IRS for the 

                                   deductibility of home mortgages, a benefit that flows 

                                   mainly to the affluent.

                               d. Ideologically and politically it fits with conservative 

                                   Republicans: it minimizes the role of government (by

                                   cutting taxes to fund government) and it delivers its

                                   largest benefits to economic conservatives’ strongest

                                   supporters: the wealthy.

              c. The 1981 Supply Side Experiment

                  1. The supply side idea is a good economic theory: everything

                      in it is consistent with standard doctrine and doesn’t require

                      any particular “leaps of faith.”

                  2. However, the outcome of trying it in the massive tax cuts of 

                      1981 were pretty dismal. 

                      a. It was suppose to stimulate an increase in the savings rate,

                          and it did not—the savings rate actually fell in the 1980s.

                      b. It was suppose to increase business investment in plant

                          and equipment, and it did not.  Domestic corporate

                          investment rates also fell.

                  3. Why?

                      a. None of the policies have the predicted impact when put

                          into place.

                          1. Part of this is the offsetting effects of government policy:

                              deficit spending (from the tax reduction) intended to 

                              boost investment also results in massive government

                              borrowing which increases interest rates and reduces

                              private borrowing/investing

                          2. Much of the investing of U.S. corporations went overseas,

                              not in the U.S.

                          3. The tax cut did redistribute income: upper income groups

                              made massive gains in after-tax income, while lower 

                              income groups were stagnant or declining.

     D. Supply Side II: Boondoggle

          1. Supply side economics was not a creation of mainstream academic
              economists.

          2. One of its prime components: that you could cut tax and actually

              increase the amount of taxes (through greatly increasing the size

              of the economy – thus lower tax rates applied to a large pool of

              money yields more revenue than higher rates applied to a smaller

              pool of money) came from a drawing on a cocktail napkin in a
              Los Angeles bar.

              a. Incidentally, you do not get this result from using “the 

                  multiplier”— every dollar of enhanced revenue depresses

                  the economy, undermining the growth the cut was suppose

                  to spur.

             b. Arthur Laffer – the economist who made the drawing on the

                 cocktail napkin – introduced some new assumptions:

                 1. The key one is that workers choose not to work as hard

                     as they are potentially willing to do because the don’t

                     realize (after taxes) all of their potential income—they

                     won’t go “all out” if they only receive 75% of their income.

                     Thus, if you reduce their tax rates, they’ll work harder.

                 2. Sounds reasonable but:

                      a. Many people, maybe most, don’t control how hard they

                          work.  Examples: annual salaried professionals, production

                          line workers, professionals who can’t increase the number

                          of clients, rich people—the principal beneficiaries of the

                          cut—they are in many cases living off investments, not

                          “working” as such

                      b. Some want to “live well” and won’t change their lives to

                           earn more.

                      c. Some would actually work less, using the additional income

                          from the cut for more leisure instead of more work.

                     d. If this had been studied extensively, they would have found

                         that Americans were already working, in both the percentage

                         of people in the workforce and average hours worked, at

                         near historic highs.

                         1. Even if Laffer’s claim about people’s motivations were

                             true, you need two additional assumptions to make

                             Laffer’s prediction of increased tax revenue through

                             lower rates work:

                             a. Historically high inflation rates (&%-10%) and;

                             b. A steeply graduate income tax with multiple brackets.

                         2. However, the 1981 tax cut included income tax indexation,

                             which eliminated inflation’s ability to increase tax 

                             revenues by putting in a higher tax bracket and inflation 

                             was coming down anyway.

                         3. Thus, more ideology than science.  

          2. What Actually Happened: Reagan got a 25% tax cut through 

              Congress and tax revenues decreased by almost 25%.                         

X. Monetary Policy

     A. History                  

          1. National Banks: always controversial – the tension is between 

              having a centralized government bank having too much power

              or private banks governing the economy as well as running

              their own business.

          2. 1913: We create the Federal Reserve (i.e., “the Fed”)

               a. The Fed is a compromise: It is sort of a governmental body
                   (e.g., governors appointed by the President and Congress),

                   but in regards it functions like a private bank.

                   1. It is definitely not accountable in a political sense.

                       a. Governors are appointed for very long terms, ten years,

                           and they are not answerable to either the President or

                           Congress.

                       b. Additionally, since their terms are long and overlapping,

                           it is difficult for a President, or a political party, to get

                           much control over the Fed.   

               b. The Fed is powerful: most think it has greater influence on the

                   economy than either the President or Congress.

     B. Macro Theory

          1. A growing money supply produces economic growth—up to the 

              level of full employment—and then inflation above that level.

               a. As the money supply grows, consumption and investment,

                   both of which also increase growth, increase.

               b Thus, if you can control the money supply, you can regulate 

                  growth.

          2. Can you control the money supply?

              a. We aren’t even sure what the money supply is: M1 = currency +

                  checking account deposits; M2 = M1 + money mutual funds +

                  other bank accounts

              b. Leaving out the government’s ability to print money, the money

                  supply can expand when you borrow money on a credit card.

                  1. Thus, the money supply is always expanding (by borrowing in 

                      the above example) or contracting.

     C. How the Mechanisms of the Fed Operate

          1. FOMC Transactions (Federal Open Market Committee):

              a. If the Fed goes into the bond market and buys bonds, it does

                  so with Federal reserve notes, which are essentially created

                  money: equivalent to printing money.

              b. This has a multiplier effect: a $1 billion buy by the Fed creates

                  a growth of perhaps $7-8 billion in money.

              c. If the Fed sells bonds, it takes money out of the private 

                  economy—what the bond buyers paid—with a similar multiplier.

             d. Transmission and the multiplier:

                 1. Money supply increases (decreases): changes money supply

                 2. Asset prices (e.g., bonds) increases--->yields decline

                 3. Spending adjusts to changed rates

                 4. Output adjusts to changed aggregate demand

                     a. Steps 1-2 above are virtually automatic, hence predictable.

                     b. But 2-3 (3-4?) depends on consumers and producers to

                         act.  That, in turn, means that how they act will be 

                         conditioned by their beliefs—temporary or permanent rates,

                         expanding economy or desperate act by the Fed?  Thus,

                         only partly predictable.

             e. The FOMC has a direct impact on the amount of money and an

                 indirect affect on rates.  

          2. Regulation of Bank Activity

              a. The Fed controls bank reserve requirements: the amount of

                  deposits they must hold in reserve—i.e., not loan.

              b. Loosening reserve requirements leads to more credit, more

                  money.  It is the reverse of “tightening.”

              c. Reserve requirements have an indirect affect on both the amount

                  of money and rates.

          3. The Discount Rate

              a. Banks borrow from the Fed at relatively low rates and then

                  loan that money at higher rates.

              b. Discount Rate: the rate banks pay to borrow from the Fed 

                  1. Federal Funds Rate: the rate one bank pays for borrowing

                                                          from another bank

              c. The discount rate then, in turn, affects the rate that banks charge

                  their customers for loans.

              d. The discount rate has an indirect affect on amount of money and

                  and a direct impact on rates.

     D. What does the Fed target, Interest Rates or Money Stocks 

          (supplies)?

          1. If the Fed moves money stocks directly, then it will have an effect

              on interest rates—and hence on all other economic activity.

              a. However, the effect is only roughly predictable.

              b. Thus, if the amount of money is the target of Fed policy, then

                  other forms of economic activity are only roughly predictable—

                  and may end up at levels above or below what the Fed desires.

          2. If the Fed uses rates as a lever, which it frequently does, then we

              have the same predictability problem: the impact on the amount

              of money is only partly predictable and, hence, may move above

              or below the Fed’s target.

              a. Part of this effect is seen in long-term interest rates.  Long-term

                  interest rates are the key to investing because investment is a

                  long-term decision.

              b. However, since long-terms rates are market determined—unlike

                  the short-term rates the Fed can influence through the discount

                  rate—long-term rates have a weak relationship to short-term 

                  rates.

     E. Rules vs. Discretion in Fed Policy

         1. The low predictability creates a policy choice: Should the Fed target 

             the amount of money or interest rates?

             a. Monetarism: the Fed should target the amount of money

                 1. Monetarism was developed in a period where high inflation

                     was a continuing problem.

                 2. Fixed Rule Approach: Milton Friedman—government is not

                     smart enough to actively regulate the amount of money and

                     will end up taking actions that are ineffective, mistimed, and

                     have a bias toward excess expansion, therefore, decide what

                     growth rate of money is desirable and then hit this target, 

                     obtaining a stable supply of money and ignore everything else 

                     in the economy.  “Only money matters.”

                    a. We tried this in the 1980s, without particularly desirable 

                        results, so now the Fed has gone back to actively monitoring, 

                        now normally using the discount rate as an instrument. 

XI. Fiscal Policy vs. Monetary Policy

      A. Since we could use either fiscal or monetary policy to control the

           economy, we would naturally ask which we should use.

      B. However, elected officials only control fiscal policy (taxing

           and spending) and the Fed controls monetary policy, so the

           question really isn’t open.

      C. So both policies are used—sometimes in cooperation, sometimes in

           conflict. 

      D. Which works better?

           1. Need to understand politics

               a. Timing: the economy is capable of going through a full cycle
                                 of growth, recession and back to growth in a year.

                    1. Fiscal policy is slow: only one budget cycle per year

                        a. Additionally, it is also slow because you have to reach

                            agreement among both houses of Congress and the

                            President

                        b. Clinton in 1993 is a classic case: he comes into office,

                            holds an economic summit and proposes a stimulus 

                            package that gets bogged down in Congress for months

                            over two questions: (1) is it needed-would its impact

                            actually be useful by the time it could be felt?; (2) what

                            should be included? Midnight basketball? The Fed fears

                            a stimulus package will over-heat the economy and

                            raises interest rates.  No stimulus package is passed.

                     2. Monetary policy is faster: the Fed meets 8 times per year

                                          and can take action at any meeting, without delay.

                         a. This speed is useful also because it means that the Fed

                             can change policies in response to actual or anticipated

                             fiscal policy changes (as the Clinton case shows).

               b. Rachet: the second weakness of fiscal policy is a weakness in

                                  in the policy itself.

                   1. The government can either (1) stimulate the economy to

                       speed it up or (2) depress it when it is going to fast.                         

                   2. Stimulation comes from actions which are popular, spending

                       increases and tax cuts.

                   3. Slowing comes from actions which are unpopular, spending

                       cuts and tax increases.

                   4. Therefore, democracy should lead to chronic overstimulation-

                       a major issue in the Keech book.

                       a. This “overstimulation” can lead to a loss of influence of 

                           the elected branches because of their incapability of 

                           moving appropriately.

      E. Ineffective Policies: A Quandary

           1. A common theme of the discussion of both fiscal and monetary

               policy is that neither of them seems to work as well as they ought

               to.

           2. Why?             

               a. Both fiscal and monetary policy involve some actions and 

                   reactions that are essentially automatic—e.g., the translation

                   of Fed moves in the discount rate into prime rates.

               b. However, both also involve behavioral adjustments: acts that

                   producers and consumers take to adjust to the changed 

                   environment after government acts.

                   1. It is these “behavioral adjustments” that don’t work as well

                       as advertised. 

                   2. Example: The Stock Market Reacts to Fed Changes

                       a. The stock market cares about two things: (1) corporate

                           profits, and (2) inflation and interest rates.

                       b. Since the Fed changes interest rates, the stock market

                           should watch the Fed.

                       c. Typical scenario: there is much speculation about what

                           action, if any, the Fed might take before-hand.  Say the

                           indicators are showing problems with inflation.  Therefore,

                           the stock market expects the Fed to raise interest rates to

                           cool the economy. The Fed does go ahead and raise   

                           interest rates and then nothing happens to stock prices.

                           Why? Are investors rational? Yes. Do they care about 

                           rates? Yes. So, why don’t stock prices respond?  We’ll

                           soon see why!

II. Rational Expectations             

    A. Economic theory invariable begins with the assumption of rationality.

        1. Rationality in economics usually means that an actor picks that

            course of action with maximum benefit and minimum cost.

        2. Information is costly (time, money, irritation at reading reports, etc.),

            it is not necessarily rational to be “perfectly” informed, even if that

            were possible.

    B. Non-rational behavior is characterized by indifference to costs and

         benefits.

         1. Example: gambling – you know the expected outcome is 

                              unfavorable, but you do for the thrill of the risk.

    C. Economic behavior is overwhelmingly rational in this sense.    

         1. People prefer more money to less and are willing to use the

             information they hold to get more.

         2. Approaches to economic decision-making

              a. Adaptive Expectations: we don’t know how to perfectly use

                  new information (e.g., a rate change by the Fed) so we

                  discount, somewhat, the new information.  

                  1. We then use this discounted new information, in conjunction

                      with the last price of an item, to make a prediction for a

                      future price of this same item.

                  2. Thus, adaptive expectations is inefficient: some information

                       is wasted and that cannot be rational.

              b. Efficient Markets/Rational Expectations: a rational decision

                  maker uses all information, including what is likely to happen

                  in the future.

                  1. Information about the future is always uncertain and 

                      imperfect, but it is real information.

                  2. Expectations will diverge from what actually happens, to

                      some degree, and we will call those divergences “surprises.” 

                  3. Stock-Picking as an illustration.

                      a. Imagine three stock traders: (1) too low – this

                          persons never buys—and sells at the first opportunity

                          if they hold a stock; (2) too high—this person never sells—

                          no buyer is willing to offer the price that this person 

                          will sell the stock at; (3) about right—this person is an 

                          active trader, buying when prices fall and selling when it

                          rises.

                      b. Whose information dominates the market?

                           1. Trader 3 – the marginal buyer and seller is where the 

                               action is.

                               a. So, traders 1 and 2 can be can be quite badly informed,

                                   with no particular consequence.  Trader 3s information

                                   level is the market-clearing information.

                      c. The stock-picking example demonstrates an “efficient 
                          market” because everything that can be predicted about the

                          future of the firm is factored into decisions to buy, sell, or 

                          hold. The stock sells for a price which represents its “true 

                          value.”

                          1. However, just because all information is used does not

                              mean that all information is good or correct.  

                          2. The “mistakes” will produce “surprises” and lead to a

                              stream of reevaluations.

                      d. Now, what happens to the stock-picker who operates on

                          adaptive expectations?

                          a. For example, this could be the person who discounts

                              current information and waits for “solid” trends to

                              manifest themselves.

                              1. The person who waits for “solid trends” will not do

                                  as well as fully rational stock-picker (i.e., one who

                                  uses all information) and often sell too low or buys

                                  too high.

                      e. The Rational Expectations Value Paradox

                          1. If some buyers and sellers are rational, then the market

                              will be efficient, and then the actual price of a stock on

                              any given day is its true value.

                          2. If you are a buyer, how much should you be willing to

                              pay?  Exactly today’s price. 

                              a. If the market is efficient, it is not possible for a stock

                                  to be under- or over-valued.

III. The Rational Expectations Model

      A. Rational Expectations Model:  we use everything we know, and thus 

                                                               do not discount future information.   

          1. Such a model is also called a “random walk.”

              a. It has the interesting property that its best forecast is its current

                  value.

              b. There is nothing you can know that will improve your ability to

                  forecast a stock price (or other economic information) beyond 

                  its current value.

                  1. This means that “experts” can’t do any better picking stocks

                      than amateurs.  Because price incorporates all information.

                  2. Thus, a rational expectations adherent would: 

                       a. never pay for advice on buying stocks;

                       b. never evaluate a stock by recent performance (what you 

                           are observing is luck – that is not repeatable);

                       c. never spend time acquiring information about stocks – 

                           unless its “inside” information, it has already been 

                           capitalized into the price. (so don’t read “Barrons”!)

                  3. These views are pretty well accepted by economists, but

                      not by investment analysts (they would be out of work).      

                      a. These views are catching on – note the huge growth

                          discount brokerage houses.

                  4. Indexes- such as a “no-load” index come close to capturing

                      the logic of rational expectations as applied to stocks.

                  5. “News” is not what happens, but “surprises” – the difference

                      between what was expected to happen and what does happen.

                  6. What financial markets seem to want most from government is

                      stability (i.e., predicatability). 

IV. Government Policy in a Rational Expectations World

      A. Can we Predict Fiscal and Monetary Policy?

           1. If government responds in similar fashion to economic events

               then policy can be reasonably predictable.

               a. For example, if the government applies a similar degree of

                   stimulus for each percentage point unemployment increases.

      B. Only Unexpected Events are “Real” Information.

           1. If information is exclusively the unexpected portion of economic

               events, government policy is “information” only to the degree 

               that it is a “surprise.”

      C.  Financial Markets seem to Respond as Rational Expectations

            Predicts

           1. What is true of financial markets is true of all economic activity;

               its just easier to see on wall street because market values are a

               convenient gauge of news—and response is instantaneous.

      D. Therefore, Economic Behavior Does Not Respond to Government

           Policy as Completely as We Might Hope

           1. Why?

               a. The critical logic in both fiscal and monetary policy stories is

                   that economic actors of all kinds observe the changes that

                   government makes (fiscal stimulus or slowdown, monetary

                   expansion or contraction) and change behavior to reflect

                   the changes.

           2. A critical point is that why markets may be “wrong” (i.e., they

               were surprised by some information) they are not “wrong” 

               without good reason.  

               a. Thus, attempts by government to “surprise” the markets

                   would yield a non-predictable response that would not

                   achieve what the “surprise” was intended to achieve.

           3. An example of a manufacturer’s response to monetary expansion.

               a. Pre-Rational Expectations: Manufacturer observes increase in

                          demand for its products (as more money circulates and 

                          people buy more freely) and responds by measures to

                          increase production—with powerful secondary effects

                          on the economy (e.g., lower unemployment).

               b. Rational Expectations: Manufacturer observes increase in

                          demand for its products (as more money circulates and

                          people buy more freely), concludes that this is the expected

                          effect of government policy stimulus—in effect, that it does

                          not reflect a real change in demand for its product—and 

                          does nothing.  Therefore, no secondary effects.

           4. This is why I mentioned earlier that neither fiscal or monetary 

               policy worked that well—the anticipated behavior changes
               did not happen.

               a. Economic theory is also not autonomous: What people

                   believe to be true about the behavior of the economy affects

                   how they behave—and therefore as accepted economic

                   theory changes, so too does economic behavior.

      E. Potential Weaknesses in Rational Expectations Theory
          1. Rational Expectations Theory has difficulty explaining long

              term business slumps.

              a. Thus, if we enter a recession, why don’t prices and wages

                  immediately fall enough to restore full employment?

                  (Krugman, Peddling Prosperity, p. 201)

                  1. The “proposed” answer is that firms and workers don’t

                      realize, or aren’t sure, there is a general slump.

                      a. This might make sense if the slump lasted only a few

                          months, or a year.  But after the economy has been
                          running high unemployment rates for several years

                          (as in the late 1970s and early 1980s), you would expect

                          people to figure it out. (Krugman, Peddling Prosperity, p. 201)              

          2. The experiences of the 1980s and early 1990s showed that actual 
              policy mattered.        

              a. A tight money policy by the Fed in the early 1980s (there were

                  actually years where, after adjusting for inflation, the money

                  supply decreased) produced a “double-dip” recession (1979

                  with oscillations through 1982) with unemployment not reaching

                  its 1979 level until 1987.

                  1. It is unbelievable that it took companies and workers eight

                      years to figure out what happened. (Krugman, Peddling 

                      Prosperity, p. 201) 

                  2. Additionally, a slump that began in early 1990 was visible

                      enough to the general public to push a once-popular

                      president out of office, yet not until halfway into 1992 did

                      the slump turn into a real recovery.

              b. All of this is not likely the result of a confused public.                              

                  (Krugman, Peddling Prosperity, p. 201)

V. The New Keynesian Response

     A. The central problem remains: why do we have recessions and

          why can it take so long for markets to respond to them?

     B. Let us examine a second real world example: Massachusetts and

          Wheat Farming 

          1. From 1980 to 1987 the Massachusetts economy boomed.

              (Krugman, Peddling Prosperity, p. 209)

              a. The unemployment rate reached a low of 2.7%!

          2. However, in 1988, the Massachusetts economy went into 

              recession. 

              a. The reduction in defense spending as the cold war ended 

                  coupled with the movement in the computer industry away from 

                  mainframes and toward personal computers, put the 

                  Massachusetts economy into recession.

                  (Krugman, Peddling Prosperity, pp. 209-210)

              b. By 1989, the unemployment rate reached almost 10%.

          3. Houses in the Boston area were not selling well. 

          4. However, by 1992, despite the fact that the unemployment rate was 

              still around 10%, houses were selling well again in Boston, but at 

              about  30% less than at pre-recession levels.

          5. Therefore, the question becomes, why did it take 3 years for 

              housing prices to come down to market clearing levels?

              a. This is like a national recession because the unsold houses
                  were “unemployed” for quite some time.  The “short” answer

                  is that housing prices didn’t fall quickly because sellers refused

                  to reduce them.  But other prices might fall quicker, what is so

                  special about housing? (Krugman, Peddling Prosperity, p. 211)

              b. Housing is not a “homogeneous” commodity like wheat.  A

                  farmer who tries to demand a price that is higher than the

                  prevailing price for wheat won’t be able to sell it.  On the

                  other hand, the seller of a house may have good reason to

                  believe that there may be a unique buyer who will pay more

                  than the prevailing rate.  The need a house quickly, or, the

                  house has some particular value to them (where its located,

                  etc.).  Thus, “near-rational behavior leads the seller to hold out 

                  for a higher than “market” price. (Krugman, Peddling Prosperity, 

                  pp. 211-212)

              c. Thus, there may be two kinds of markets: markets like wheat,

                  where sensible behavior on the part of individuals leads to

                  sensible behavior on the part of the market as a whole; and

                  markets like housing, where “near-rational” behavior on the 

                  part of individuals can lead to highly irrational overall outcomes.

                  (Krugman, Peddling Prosperity, p. 212)                    
                  1. The difference in the two markets lies in the imperfection of

                      competition: the wheat farmer produces essentially the same 

                      commodity as all other wheat farmers.  This leads to a 

                      “perfectly competitive” market where the seller doesn’t set

                      the price. (Krugman, Peddling Prosperity, pp. 212-213)                          

     C. The New Keynesian Idea: What look like highly irrational outcomes

          in the marketplace are caused by the interaction between imperfectly

          competitive markets and slightly less than perfectly rational

          individuals. (Krugman, Peddling Prosperity, p. 213)

          1. If markets were perfect, a firm that charge too much for its

              would lose all its business.  

          2. In a world of highly imperfect markets, a firm that charges a little

              too high gains almost as much from the higher price (fewer sales

              perhaps but greater profit on each one) that almost compensates

              for reduced sales.

              a. In other words, the costs to an individual firm of being a little

                  less than totally rational and not cutting wages and prices

                  may be quite small, small enough that reasonable people don’t

                  do it. (Krugman, Peddling Prosperity, p. 214)

     D. Now the reasoning for an expansionary monetary policy becomes

          clear: if we go into a recession, put more money into circulation,

          and spending, incomes, and employment will rise.

          (Krugman, Peddling Prosperity, p. 215)              

          1. Monetarists and rational expectations adherents argue that

              monetary policy could only work by fooling people, and therefore

              could never add to stability.

          2. If however, recessions persist even when people understand

              perfectly well what is happening, then increasing the supply of

              money can cure them even if it is a totally predictable action.

              (Krugman, Peddling Prosperity, p. 215)

          3. Therefore, there is a justification for activist government economic

              policy. 

VI. Keynes and Rational Expectations - Conclusion

     A. In all likelihood, given time and cognitive and other human 

         constraints, economic actors almost surely produce some
         actions consistent with rational expectations and some more 

         adaptive and, thus, consistent with Keynes. (e-mail from Robert 

         Franzese, July, 27,2001)

         1. A hardcore rational expectations view that expected policy

             is irrelevant in the medium-to-long-term is likely incorrect.

             (Franzese e-mail, July, 27, 2001)

         2. The opponents of rational expectations, such as new keynesians

             and Hibbs, are much less likely to offer parallel hard-core

             views that expectations are irrelevant. 

             (Franzese, e-mail, July, 27, 2001)

     B. Much More Interesting than the Rational Expectations vs. Keynes

          Controversy are Questions of Policymaker Incentives about

          Economic Policy.

         1. Additionally, the access and control, as well as efficacy of

             macroeconomic policies are also interesting and important.

             (Franzese, e-mail, July 27, 2001)
     C. Thus, the impact of political parties on economic policy and

          economic outcomes has more to do with how they affect

          institutions and rules of monetary and fiscal policy, the

          balance of public and private investment and distribution

          questions.  (Franzese, e-mail, July 27, 2001 – also useful is

          his review of Alesina, et. al. in the Journal of Policy Analysis and

          Management, between 1999 and 2001, I believe.  See his website

          for a copy: http://www-personal.umich.edu/~franzese)

I. The Economic Incentives of Political Parties 
   A. Political Incentives Concerning Unemployment and Inflation   

       1. The Marginal Substitution Rate: the number of percentage points

                  that unemployment would have to decrease if inflation increased
                  by one percentage point for the president’s support within the

                  group to remain the same. (Hibbs, The American Political Economy,

                  p. 177)
                  Democrats                  Independents              Republicans

                        .90                                 2.0                                1.5

                  a. Thus, if 75% of Republicans approved of President Bush

                      and inflation increased by 1% (which lowers Bush’s popularity

                      among Republicans), but unemployment decreased by 1.5%

                      (which increases Bush’s popularity among Republicans) 

                      Bush’s popularity among Republican voters would remain

                      at 75%.

       2. The Marginal Substitution Rate shows you how much greater 

           political incentive that a Democratic president would have to lower        

           unemployment, even if meant an increase in inflation, than would a 

           Republican president.      

       3. Additionally, notice that since both the Republican and Independent

           numbers are above 1.0, the both groups are more averse to inflation

           than unemployment (because it takes are greater reduction in

           unemployment to offset a smaller increase in inflation).

       4. Even if the above numbers would change somewhat as economic

           conditions changed, at about any level of unemployment, Democrats

           are going to be more averse to unemployment than Independents

           and Republicans.

       5. Remember the “Blinder Rule”: a one percentage point increase in

           unemployment, above the natural rate of unemployment, endured

           for a year, lowers the core, or underlying, inflation rate one-half of

           one percent – you can now see why, if faced with high rate of 

           inflation, such as during the mid-1970s through the early 1980s, they 

           would differ on how deep a recession they would be willing to run in 

           order to reduce inflation.                 

   B. Support for Social Welfare Spending also Differs by Social Class 

       1. Opinions about Increased Spending on Social Welfare Programs by

           Subjective Social Class

                                 Working Class          Middle Class          Upper Class

Health Care                     70%                           65%                         49%

Retirement Benefits       59%                           42%                         27%

The Poor                         62%                            51%                        35%

Unemployment

   Assistance                  43%                            28%                         35%

(Erikson and Tedin, American Public Opinion, 6th ed., p. 172)                

          a. Notice that as class level increases, support for increasing social 

              welfare spending decreases.

         b. It is important to mention a “bias” in the political system: since

             “median voter” is less wealthy than the “mean voter” (because

             a few high income voters distort the mean), and politicians have

             to cater to the median voter in order to win, the political system

             has a greater demand for public transfer programs than the

             average, or mean, voter would want. (Franzese, Macroeconomic

             Policies of Developed Democracies, p. 65)

            1. May help explain the increase in transfer spending in most

                all wealthy democracies since World War II.                  
            2. Not surprising, greater electoral turnout is associated with

                increases in transfer spending. (Franzese, p. 107) 

       2. If you take spending measure that are less targeted to the poor,

           such as spending for education, the relationship of social class

           to spending weakens.

           a. On these “non-class” oriented domestic programs you often
               majorities of all class levels favoring increased spending.

       3. If you ask voters whether they are best classified politically

           as liberal or conservative, conservatives always dominate.

           (typically about 5%-60% conservative and approximately 40%

           liberal).

       4. However, as voters typically support greater levels of domestic

           government spending it really means the following:

           The typical voter is symbolically conservative and operationally

           liberal.

           1. This is a big reason why the Democratic party does as well

               electorally as it does.

   C. While Self-Interest is a Lens Through which Voters View  Economic 

        Priorities Such as Reducing Unemployment and Support for Social 

        Welfare Spending, Voters more Base Their Vote on Societal Wide

        than Selfish Perceptions.

      1. A Voter’s Perception of How the National Economy is Performing

          is a Better Predictor of their Vote for President than is their

          is their Perception of How they themselves are Fairing Economically.

          (Kinder and Kiewiet, AJPS, 1979 and Alvarez and Nagler, AJPS, August,

           1995)

          a. From analyses of the survey data, it also seems clear that voters

              can differentiate between their assessment of their personal

              financial circumstances and those of the nation.  Thus, they

              do not simply project their perception of their own financial

              circumstances onto the nation as a whole.

          b. The founding fathers would be pleased with this finding.

          c. In terms of support for social welfare spending people are typically

              more generous the better the economy.

II. Policy Mood Alternative

        A. Think about public opinion on economic and social welfare issues, 

             as well as other types of issues in more passive terms -- not an 
             electorate that demands this and that, but mostly doesn't care.

        B. If politicians experiment with policies, they occasionally go beyond 

            the bounds,  make some proposal that activates the normally 

            passive electorate because it is unacceptable.

             1. For example, impeachment!

        C. Zone of Acquiescence: range where alternatives are ignored, no 

                                                     electoral response.

             1. We never quite know what is or isn't in the ZOA -- e.g. Bush’s 

                 actions on the environment – that depends a lot less on objective  

                 performance than on political drama, the ability to frame some 

                 issue in a way that captures attention for it, and so is often 

                 unpredictable.

        D. Now, what if this zone moves over time? If that is, our passive 

             willingness to tolerate policies and proposals is sometimes greater 

             in one direction than the other? e.g. Reagan period welfare criminal 

             defendant rights racial integration/affirmative action, etc.

.

        E. This sort of process (we'll call it policy mood) could produce the 

             movement over time that looks like ideology.

             a. Furthermore, it is consistent with the massive evidence of citizen       

                 inattentiveness  to politics, nonattitudes, etc.  It requires only that 

                 a few people think about policies, not many or all.

III. Policy Mood II: Measurement

    A. The reality of this "mood" can be captured by looking at the average  

         support for particular policy positions on individual issues over time.

         1. e.g. proportion pro-abortion, proportion favoring more government 

             regulation of environment, etc.

   B. Four Series - Imagine that we pick 6 policy areas of controversy and 

                               ask what public preferences look like as they move 

                               through time.

        1. Are they liberal (government do more) or conservative (government 

            do less)

        2. Is each policy distinctive? Or do all move together?

        3. Each question is of the form "spend more, spend less, spend about 

            the same level"

            a. Take the percents who say more or less and compute Net 

                Liberalism = Percent More/(Percent More + Percent Less)

            b. Interpretation: 50 is the neutral point, where the number of people 

                who want more government is exactly equal to the number who 

                want less.

   C. Initially, Let’s Start with Spending in Six Domestic Issues from the 

       General Social Survey: Cities, Education, the Environment, Welfare, 

       Heath and Race 

       1. Using the previous method (percent spend more/percent spend more 

           + percent spend less) the results are as follows:

           a. Over 90% favor more spending on health with similar scores on 

               the environment and education.

           b. Cities around 80%, Race around 60% and Welfare around 30%.

                (data from Stimson, Public Opinion in American, 2nd ed., p. 41)

   D. Three Results:         
        1. Liberal: more than 50% typically desire greater government 

            spending—thus operational liberalism. 

        2. Distinctive?: No, while the support levels are similar, the levels 

            change (up or down) in a similar manner. 

        3. Orderly: Yes (not obvious), this movement is an explainable 

            response to what is actually going on in Washington. 

   E. Imagine that there is some common element in our response to most 

       policies. Then we would expect them to move to some degree in 

       parallel over time.

       1. If they do, then we could extract that common element, and it would 

           be a measure of this “policy mood.”

       2. Public policy mood is a general tendency to favor or oppose all 

           government activity, probably a pretty deeply rooted attitude toward 

           government itself.

           a. That is pretty much what we mean by liberalism, supporting 

               government activity to deal with social ills, and conservatism, 

               opposing the extension of government as much as possible.

           b. We now know that you can choose to make the public look 

               conservative – by focusing on symbols – or liberal by focusing on 

               policy preferences. 

   F. Elections, to a Significant Extent, can be Viewed as an Expression of

       Policy Mood.

       1. Public Policy Mood: Percent Liberal 1952-2000

           a. 1952: approx. 53% liberal increasing to about 70% liberal by 1962

               (higher water mark for liberalism), then declines to about 

               53% by 1980.  Starts to rise to about 67% by 1991and starts to 

               decline down to about 60% by 2000.

           b. Conclusions:

                1. It does seem to move systematically.

                2. It shows more or less the patterns we expect, e.g. conservatism 

                    in the 80s – and that conservatism came before RR and begins 

                    to suggest that his election did carry a message.

                    a. Typically, it moves ahead of popular perceptions of 
                        moods/eras, whatever. 

                3. Liberalism was peeking “just before” Clinton’s election in

                    1992 and was lower, and decreasing, prior to Bush’s election in 

                    2000.

                    a. Policy response (e.g., 92-94-94 sequence): Electorate as a 

                        whole is moderate as compared to either of the parties. 

                        Democrats are too liberal, Republicans are too conservative.

                    b. So, in general, whichever side is in office, the electorate 

                        moves in the opposite direction.  Thus, counter-cyclical.
                    c. On the 2000 election it is important to note that Gore did 

                        about as well as he should have given the low rate of 

                        increase in real disposable income and “policy mood.”  

                        (on the impact of real disposable income see Bartels and 

                        Zaller, Presidential Vote Models: A Recount, unpublished 

                        paper from Zaller’s website)

       2. Movement in Policy Mood drives change in “macropartisanship”

           (which is the percentage of Democrats among those affiliating

            with one of the two major parties – i.e., excluding independents

            and minor parties)            

            a. Change in “macropartisanship” drives election outcomes.

       3. Additionally, change in policy mood tends to drive policy changes.

           a. If you examine a composite indicator of policy liberalism (from

               congressional and supreme court actions) it tracks policy

               mood relatively closely.

           b. Thus, changes in policy mood do result in changes in public

               policy.  (Erikson and Tedin, American Public Opinion, 6th ed., p. 317)   

IV. The Impact of Political Parties on Economic Inequality

     A. Goals    

          1. If There is One Dominant Economic Problem, Work on that

              Problem.

              a. If no particular problem dominates, use the priority list

                  below. (adapted from Tufte, Political Control of the Economy,

                                pp. 101-102)

               b. Probably an approval rating of about 60%, or so, would

                   mean that a president was “strong enough” politically

                   that they could pursue priorities below without

                   too much fear. (Frey and Schneider popularity deficit model)

          2. Macroeconomic Priorities of Political Parties

Socialist-Labor                      Center (Democrats)           Right (Republicans)

Full Employment                                                                Price Stability

Equalization of                       

Income Distribution               Price Stability

Economic Expansion            Economic Expansion        Balance of Payments

                                                 Full Employment

                                                 Equalization of                 

                                                 Income Distribution          Economic Expansion

Price Stability                         Balance of Payments        Full Employment

Balance of Payments                                                         Equalization of

                                                                                             Income Distribution

(Douglas A. Hibbs, Political Parties and Macroeconomic Policies, APSR,

                               December, 1977, p. 1471)

             a. Two Conclusions:   

                 1. There is a much greater difference between the Socialist-Labor

                     and Center priorities than between the Center and Right 

                     priorities.                                              

                 2. As you move from right to left, notice how much more 

                     egalitarian the priorities become.

     B. Economic Policy Instruments: the means by which government

                                change the degree of economic inequality

          1. Evidence at the International Level

              a. Macroeconomic Policies (OECD nations)

                  1. Leftist governments undertake more expansionist policies 

                      than rightist governments. 

                      a. Under fixed exchange rates, leftist governments run 

                          larger budget deficits than rightist governments.

                      b. Under floating exchange rates, leftist government pursue

                          looser monetary policies than rightist governments.                          

                          (Oatley, AJPS, 1999)

                 2. Leftist government pursue more generous social welfare

                     policies than rightist governments even after removing the

                     impact of economic shocks (e.g., OPEC cartel pricing

                     policies) and the increased ability of capital to move

                     between nations. (Swank, Social Democracy, Equity and

                     Efficiency in an Interdependent World, 1993 APSA paper)      

          2. National Level Evidence

              a. The money supply expands faster and fiscal policy is

                  more in deficit under Democratic than Republican     

                  administrations. (Hibbs, The American Political Economy,

                  p. 251)

                  1. Note also that the Fed tends to be quite accommodating

                      of presidential policy.  (Hibbs, The American Political 

                      Economy, p. 246)

               b. Additionally, the Democratic party pursues more progressive   

                   tax policies than the Republican party.

                   1. Party Proposals on The Economic Recovery Tax Act of 1981

                      Note: The Economic Recovery Tax Act of 1981 reduced

                                     federal income tax rates approximately 23% over

                                     a three year period. 

                                     (Hibbs, The American Political Economy, p. 296)

                                   Congressional                             Reagan

            Income              Democrats                           Administration

            $10,000                  $362                                          $52

            $20,000                  $250                                          $228

            $40,000                  $841                                          $639

            $60,000                  $1,199                                       $1,255      

            $100,000                $1,203                                       $2,137

            Note: Over 50% of the benefits under the Economic Recovery Tax

                      Act of 1981 went to the richest 20% of the households.  The

                      source for the above comparison is Hibbs, The American

                      Political Economy, page 299.  The over 50% estimate is

                      calculated from Lars Osberg, Economic Inequality in the

                      United States, page 242.

                   2. Clinton Tax Changes - 1993
                       a. Provisions: Raised the federal income tax rate on family

                                                incomes above $140,000 from 31% to 36%,

                                                with a 10% surtax added to incomes above

                                                $250,000, increased the gasoline tax by 4.3

                                                cents per gallon and significantly increased

                                                the earned income tax credit (which lowers

                                                the tax liability of low income families).

                       b. Distributional Impact: the poorest 20% of American 

                                                   families received a 28% tax reduction,

                                                   families in the middle paid slightly more while

                                                   those in the richest 1% had, by far, the 

                                                   largest tax increase—their federal taxes

                                                   by 18% (source: CBO estimate)

                   3. Dole Tax Proposal—1996 Campaign

                       a. Dole proposed a 15% across the board federal income

                           tax rate reduction and a $500 non-refundable tax cut

                           per child.

                       b. Distributional Impact: 75% of the benefits would go to

                           the richest 20% of the taxpayers.  The richest 1% would

                           have received as large a percentage of the total benefit

                           (27%) as the poorest 80%. (Lenny Goldberg, LA Times,

                           9/29/96, M5)

                   4. Bush 2000 Campaign          

                       a. Reduction in federal income tax rates with the richest

                           10% receiving 59.4% of the benefits and the richest 1%

                           receiving 37.6% (Citizens for Tax Justice)

                   5. Congressional Voting on Tax Legislation Since 1976
                       Indicates that Democrats/Liberals are Much More 

                       Supportive of Income Tax Progressivity than Conservatives/

                       Republicans. (Dennis, 1976 Convention Paper, Southeastern

                      Political Review, 1993)

               c. Social Welfare Spending: Democratic congressional strength

                       of approximately 53%, or greater, tend to trigger increased

                       federal social welfare spending. (Hibbs and Dennis, APSR,

                       1988, p. 482)

          3. State Level Evidence
              a. Greater liberal strength in state governments is associated

                  higher AFDC payments (after removing the effects of various

                  economic and demographic factors – Hill, Leighley and Hinton-

                  Anderson, AJPS, 1995 – this result actually comes from corrected

                  version in AJPS which appeared a year, or so, after the 1995 article).

     C. Economic Outcomes Under Political Parties

          1. International Evidence: Hibbs finds British Labor party produces

                     lower unemployment rates than the British Conservative Party.    

          2. National Evidence

              a. Unemployment/Inflation: After four years in office, Democratic

                          administrations typically produce unemployment rates

                          approximately 2% lower and “core” inflation rates 

                          approximately 4% higher than Republican administrations

                          --after removing the effects of exogeneous shocks (e.g.,

                          the OPEC oil increases of the 1970s).

                          (Hibbs, The American Political Economy, pp. 248-254)

                 1. Note: to compare unemployment rates across eras you

                               have to adjust for changes in the natural rate of

                               unemployment—which is probably about 4% today

                               as opposed to the 6% level of the early 1980s. 

                 2. Additionally, unemployment targets by political parties

                     increase (i.e., they will tolerate high unemployment as

                     inflation increases.

                     a. The unemployment targets typically increase about one-

                         tenth of a percentage point for each additional percentage

                         point of sustained inflation. (Hibbs, The American Political

                         Economy, p. 253)          

                3. While the Democratic administrations could not probably 
                    sustain an unemployment rate 2% lower than the Republicans 

                    indefinitely, they will lower it faster than the Republicans, and 

                    will not be willing to let it increase as high in order to reduce 

                    inflation as will the Republicans. 

              b. The Distribution of Net Income (money income plus income

                          underreporting, fringe benefits, capital gains, education

                          benefits less taxes)

                   1. The ratio of net income of the richest 20% of American

                       families to the poorest 40% of families is typically

                       around 2.0 (i.e., the richest 20% of the families have twice

                       as much net income as the entire poorest 40%).

                       a. After eight years of a Democratic administration this ratio

                           would decrease from about 1.97 to about 1.75 whereas  

                           with a typical Republican administration it would increase 

                           from 1.97 up to approximately 2.05. (calculated from pp. 470 

                           and 485 of Hibbs and Dennis, APSR, 1998. The calculation is

                           as follows: the typical ratio is about 1.97, which is ..678 when 

                           represented as a natural log. Hibbs and Dennis find that this 

                          natural log decreases about .12  under eight years of a 

                          Democratic administration (thus, .678-.12=.558 and e .558 = 

                          1.747) and increases by about .04-.05 under eight years of a 

                          Republican administration (thus, .678 + .04 = .718 and e .718 = 

                          2.05 – this assumes the absence of exogenous shocks and

                          a natural rate of unemployment of approximately 6%) 

          3. State Level Evidence

              1. Policies typically associated with liberalism/the Democratic

                  party such as facilitating unionization, minimum wage laws,

                  training programs for the unemployed do tend to reduce income

                  inequality in a state. Thus, “lifting the floor” matters. (Brace and 

                  Langer, State Government Policy, Collective Bargaining 

                  Arrangements, and Income Inequality in the American States, revised 

                  version of paper delivered at the Midwest Political Science 

                  Association, 2000)  

V. Cultures and Systems that Political Parties Operate in Alter the 

     Distribution of Income

    A. Cross-National Comparison of Poverty Rates and the Anti-

         Poverty Effectiveness of Transfer Programs

    Nation                 Pre-Tax and                   Post-Tax and 

       and                      Transfer                          Transfer

      Year                  Poverty Rate                  Poverty Rate            Change

    U.S. (1986)                19.9%                             13.1%                    -6.8%

    Canada (1987)          17.1%                               7.0%                  -10.1%  

    Australia (1985)       19.1%                                6.7%                  -12.4%

    United 

    Kingdom (1986)       27.7%                                5.2%                  -22.5%

    France (1984)           26.4%                                4.5%                  -21.9%

    Sweden (1987)         25.9%                                4.3%                  -21.6%

    Netherlands (1987)  21.5%                                3.4%                  -18.1%

    Germany (1984)       21.6%                                2.8%                  -18.8%

    (source: the Luxembourg Income Study as reported in Timothy M. Smeeding,

     “Why the U.S. Antipoverty System Doesn’t Work Very Well,” Challenge,

     January/February, 1992,  p. 33. Note: poverty was defined as 40% of the

     median family income in the nation.  For the U.S., this 40% figure is quite

     close to the official U.S. poverty line.)

       1. Interpretation:

           a. The U.S. pre-tax and and transfer poverty rate is relatively low.

               We simply refuse to spending the money that these other nations

               do in order to drastically lower the post-tax and transfer poverty

               rate.

               1. Remember, the U.S. does not have a national health insurance

                   program while all of the other nations above do.

           b. It is also worth noting that there is virtually no association 

               between a nation’s tax rate and its growth rate. (Challenge,

               July/August 1991, pp. 53-54)  

